HOMEWORK WEEK OF 11/2/2019

Translate below story into PUNJABI

Jaiveer has a pet.

His pet is pig.

His pig is pink.

His pig has a name.

Its name is porky.

Porky has four legs.

Porky has one nose.

Porky has pointy ears.

Poky has a curly tail.

Jaiveer feeds his pig.

We will have a quiz on below topics

UIste Tnft faAHT ( Make sure you can

identify the types of Pronouns from any
given sentences .

Make sure you can identify Full Verbs from any given
sentences.

Porky eats veggies.

Porky eats grass.

Porky eats bugs.

Porky is very fat.

Jaiveer loves his pig.




What is a VERB?

. The VERB is the action of the sentence.

. It says what the SUBJECT is doing.

. Examples: to run, to sleep, to be, to write, to love.

. *Note*: “to” + the VERB = “the infinitive” (How the verb looks in the

dictionary).
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CIRCLE FULL VERBS
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Read Page 13, 14, 15
and complete page 16.

Read page 20

VIRSA HOMEWORK

Memorize history questions 1-50 (PLEASE MEMORIZE
THESE HQ’s .These are from 2" grade and most of
you are not doing well ®

Read Japji Sahib

Read Sakhi from page 99 then do than complete page
100

Write a summary on Page 99 in your notebooks.

Read H9" He™ Sakhi and write a brief summary in

your own words .
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